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1. Fractional reserve banking means that banks are required
to _____ .
A. Keep part of their demand deposits as reserves
B. Loan out all of their deposits
C. Invest all deposits into the stock market
D. Maintain a zero-reserve policy

2. How do consumers typically react to tariffs on imported
goods?
A. They purchase more domestic goods.
B. They reduce their overall consumption.
C. They shift to cheaper imports.
D. They increase their savings.

3. What is the financial ability to repay a loan with present
income called?
A. Creditworthiness
B. Capacity
C. Collateral
D. Equity

4. What element of a mixed economy allows for flexibility in
the market?
A. Youth entrepreneurship initiatives
B. The presence of private firms alongside government

ownership
C. Strict government control of all sectors
D. Absence of market competition

5. If the demand for potatoes increases whenever a person's
income increases, then potatoes are an example of _____.
A. inferior goods
B. normal goods
C. complementary goods
D. substitute goods
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6. Which of the following is a consequence of scarcity?
A. Abundant supply of all goods
B. Producing more of one good means producing less of another

one.
C. No competition in the market
D. Equal distribution of resources

7. In economic terms, what does GDP represent?
A. The total income of the government
B. The total value of all goods and services produced in a

country
C. The total amount of consumer spending
D. The total number of jobs in an economy

8. In a traditional economy, how are transactions generally
shaped?
A. Market forces primarily direct transactions
B. Individuals freely negotiate transactions
C. Elders and ancestors make decisions on specific ways
D. Government regulations dictate transaction methods

9. How many companies typically dominate an oligopoly?
A. 1-2 companies
B. 3-5 companies
C. 6-10 companies
D. More than 10 companies

10. Which statement describes the law of demand?
A. Higher prices lead to lower quantity demanded
B. Price changes have no impact on demand
C. When the price of a product is lower, people will buy more of

it
D. Supply always meets demand
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1. A
2. A
3. B
4. B
5. B
6. B
7. B
8. C
9. B
10. C
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Explanations
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1. Fractional reserve banking means that banks are required
to _____ .
A. Keep part of their demand deposits as reserves
B. Loan out all of their deposits
C. Invest all deposits into the stock market
D. Maintain a zero-reserve policy

Fractional reserve banking is a system in which banks are required to keep a fraction of
their total deposits as reserves while they are allowed to lend out the remainder. The
reserves are typically held in the bank's vaults or deposited with the central bank. This
illustrates the principle that banks do not need to keep all customer deposits on hand
since only a fraction is usually withdrawn at any given time.  The requirement for banks
to keep part of their demand deposits as reserves is crucial for maintaining customer
confidence and ensuring liquidity in the banking system. The reserves protect the bank
from bank runs, where many customers try to withdraw their money simultaneously. By
having a reserve requirement, the banking system can operate smoothly, facilitating
lending and creating money through the credit multiplier effect.  The other options
suggest either lending all deposits without retaining any reserves, investing in volatile
markets, or maintaining no reserves at all, which undermines the very foundation and
safety mechanisms of fractional reserve banking.

2. How do consumers typically react to tariffs on imported
goods?
A. They purchase more domestic goods.
B. They reduce their overall consumption.
C. They shift to cheaper imports.
D. They increase their savings.

When tariffs are imposed on imported goods, they effectively raise the prices of those
goods. As a result, consumers tend to find imported products less appealing due to the
increased cost. This prompts many consumers to turn to domestic goods, which may be
seen as more affordable or better value in comparison to the now more expensive
imports. Consequently, the demand for domestic products increases, as consumers seek
alternatives that fit within their budget.  This behavior reflects a fundamental principle
of consumer choice: when prices change, so does demand for different goods. By
choosing to purchase more domestic goods in response to tariffs, consumers support
local industries, potentially leading to positive economic effects within their own country.
Such shifts can also stimulate job growth and production in domestic markets,
reinforcing the cycle of consumer preference in favor of locally made products.

8Sample study guide. Visit https://virtualsceconhonors.examzify.com for the full version

SA
M

PLE



3. What is the financial ability to repay a loan with present
income called?
A. Creditworthiness
B. Capacity
C. Collateral
D. Equity

The ability to repay a loan with present income is referred to as capacity. This concept is
critical in lending decisions, as it assesses whether an individual or entity has enough
disposable income or financial resources to handle loan payments alongside their
existing financial obligations. Lenders evaluate capacity primarily through income
verification, debt-to-income ratios, and overall financial stability to ensure that the
borrower can manage additional debt responsibly.  Creditworthiness, while related,
encompasses a broader evaluation that includes credit history and overall financial
behavior, not just income. Collateral refers to assets that can be pledged to secure a loan,
and equity pertains to ownership interest in an asset after liabilities are deducted. Both
collateral and equity do not directly address one’s income capacity to repay a loan. Thus,
capacity is specifically focused on current financial ability, making it the correct answer.

4. What element of a mixed economy allows for flexibility in
the market?
A. Youth entrepreneurship initiatives
B. The presence of private firms alongside government

ownership
C. Strict government control of all sectors
D. Absence of market competition

A mixed economy is characterized by its combination of both private enterprise and
government intervention. The element that allows for flexibility in the market is the
presence of private firms alongside government ownership. In such an economy, the
private sector can respond quickly to consumer demands and market changes, fostering
innovation and competition while the government can step in to regulate or provide
services as needed.  This balance leads to a system where resources can be allocated
more efficiently, and various sectors can interact in ways that encourage economic
dynamism. The involvement of private firms introduces competition, which is crucial for
driving down prices, improving product quality, and enhancing services. At the same
time, government ownership can help stabilize sectors that may be prone to market
failures or that require substantial public investment, such as healthcare or public
transportation.  Thus, the interaction between private and public sectors creates a more
adaptable economy capable of responding to the needs and wishes of consumers, making
the economy more robust and versatile.
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5. If the demand for potatoes increases whenever a person's
income increases, then potatoes are an example of _____.
A. inferior goods
B. normal goods
C. complementary goods
D. substitute goods

The correct choice is that potatoes are an example of normal goods. This classification is
based on the relationship between demand and consumer income. When income rises,
consumers tend to buy more of normal goods because these items are perceived as
desirable or of higher quality. As people's purchasing power increases, their demand for
these goods increases, reflecting their ability to afford more or better-quality products. 
In contrast, inferior goods are those for which demand decreases as income rises,
meaning consumers will opt for alternatives that they perceive as superior or more
desirable when they have more financial resources. Complementary goods are products
that are typically consumed together, while substitute goods are those that can replace
each other; an increase in the demand for one usually leads to an increase in the demand
for the other due to their interchangeable nature. Potatoes, in this case, do not fall into
those categories; they become more sought after as income increases, confirming their
status as normal goods.

6. Which of the following is a consequence of scarcity?
A. Abundant supply of all goods
B. Producing more of one good means producing less of another

one.
C. No competition in the market
D. Equal distribution of resources

Scarcity refers to the limited nature of society's resources in relation to the unlimited
wants and needs of individuals. As a result of this limitation, choices must be made about
how to allocate resources effectively. The correct answer highlights a fundamental
principle of economics known as opportunity cost, which arises from scarcity.   When
resources are scarce, producing more of one good inevitably means that fewer resources
are available to produce another good. This trade-off is at the heart of decision-making in
economics and illustrates how societies prioritize their needs and preferences based on
available resources. The allocation process requires careful consideration of which goods
and services are most valued by consumers or necessary for production.  In contrast, the
other options do not accurately represent outcomes that arise directly from scarcity. An
abundant supply of all goods contradicts the very definition of scarcity. Similarly, a lack
of competition in the market does not stem from resource limitations; instead,
competition often results from scarcity, as different producers vie for limited resources.
Finally, equal distribution of resources is rarely a consequence of scarcity, as scarcity
often leads to unequal access and distribution based on various factors such as wealth,
power, and political influence.
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7. In economic terms, what does GDP represent?
A. The total income of the government
B. The total value of all goods and services produced in a

country
C. The total amount of consumer spending
D. The total number of jobs in an economy

Gross Domestic Product (GDP) is a fundamental economic indicator that represents the
total value of all goods and services produced within a country over a specified period,
usually annually or quarterly. This measure reflects the economic performance of a
nation and is a crucial component for understanding the overall health of an economy.  
By focusing on the total output of goods and services, GDP captures the market value of
production, which can be influenced by various factors such as consumer spending,
business investments, government expenditures, and net exports (exports minus
imports). Therefore, it provides a comprehensive snapshot of economic activity and helps
policymakers and economists gauge economic growth, productivity, and standard of
living within a country.   The other options, while related to economic concepts, do not
encompass the full scope of what GDP represents. For instance, total government income
is more closely related to fiscal policy rather than the entire economy's production.
Similarly, consumer spending is just one component of GDP, and the number of jobs does
not directly indicate the total economic output but rather labor market conditions. Thus,
the correct understanding of GDP as the total value of goods and services produced is
essential for analyzing economic performance.

8. In a traditional economy, how are transactions generally
shaped?
A. Market forces primarily direct transactions
B. Individuals freely negotiate transactions
C. Elders and ancestors make decisions on specific ways
D. Government regulations dictate transaction methods

In a traditional economy, transactions are often shaped by customs, rituals, and the
guidance of elders and ancestors. This type of economy relies heavily on established
practices that have been passed down through generations. Decisions regarding
production and distribution are typically made based on longstanding traditions rather
than market dynamics or individual negotiations. Elders or community leaders often play
a key role in maintaining these practices, ensuring that transactions align with the
community's values and history. Thus, the correct answer emphasizes the significance of
cultural heritage and the influence of community leaders in guiding economic activities
within a traditional economy.
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9. How many companies typically dominate an oligopoly?
A. 1-2 companies
B. 3-5 companies
C. 6-10 companies
D. More than 10 companies

In an oligopoly, a market structure characterized by a small number of firms, it is
common for around three to five companies to be the primary players. This is due to the
nature of the market, where the limited number of firms allows for significant control
over prices and market output collectively.   The actions of each firm in an oligopoly are
interdependent, meaning that each company's decisions regarding pricing, production,
and marketing can influence the others. This leads to a careful strategy formulation, as
each company must consider the potential reactions of its few competitors.   The
dominance of three to five firms allows for a balance where competition exists but is less
than in more fragmented markets. In this setting, the companies can either compete
fiercely or agree to collaborate to some extent, often resulting in practices such as
price-fixing or forming cartels, which are less common in more competitive market
structures.   Understanding the typical number of firms in an oligopoly helps clarify
market dynamics and the potential for market power and influence held by these few
entities.

10. Which statement describes the law of demand?
A. Higher prices lead to lower quantity demanded
B. Price changes have no impact on demand
C. When the price of a product is lower, people will buy more of

it
D. Supply always meets demand

The law of demand states that, all else being equal, when the price of a product
decreases, the quantity demanded for that product increases. This relationship highlights
consumer behavior in response to price changes: as something becomes cheaper, it
typically becomes more attractive to buyers, leading to an increase in the amount
purchased.  This principle can be graphically represented with a downward-sloping
demand curve, where price is inversely related to quantity demanded. The more
affordable a product becomes, the more consumers are likely to purchase it, illustrating
why the statement about lower prices leading to increased purchases accurately
describes the law of demand.   The other options do not capture this inverse relationship.
For example, simply asserting that higher prices lead to lower quantity demanded refers
to a component of the law of demand but does not fully articulate the situation involving
lower prices. The option that indicates price changes have no impact on demand
contradicts the fundamental nature of demand, while the statement regarding supply
always meeting demand oversimplifies market dynamics, as supply and demand can
fluctuate, leading to surplus or shortage situations.
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